MODULE Projektarbeit

TITLE 'Aufzugsteuerung’

@dcset; "Don't-Care-Set: fir max. Vereinfachung in

Declarations "Ein-und-Ausgange"

a,b,c,d,e,fPIN 2,3,4,5,6,7;

u,v,w,x,y,z PIN 14,15,16,17,18,19;

Truth_Table
([a,b,c,d,e fl->[uv,w,xy,z] )
[0,0,0,0,0,0]->[1,0,0,1,1,0];

[0,0,0,0,0,1]->[0,0,1,0,0,0];
[0,0,0,0,1,0]->[0,1,0,0,0,0];
[0,0,0,0,1,1]->[.X.,.X.,.X.,. X.p. X, Xo];
[0,0,0,1,0,0]->[1,0,0, 0 O ,0];
[0,0,0,1,0,1]->[.X.,.X.,.X ;. X.p. X, Xo];
[0,0,0,1,1,0]->[.X.,.X., x.,.x.,.x.,.x.];
[0,0,0,1,1,1]->[.X.,.X.,.X.,. Xep X, Xo];
[0,0,1,0,0,0]->[0,0,0, 0 O 1,
[0,0,1,0,0,1]->[0,0,1,0,0,0];
[0,0,1,0,1,0]->[0,0,1,1,0,0];
[0,0,1,0,1,1]->[.X.,.X.,.X.,. Xop X, Xo];
[0,0,1,1,0,0]->[0,0,1, 1 O ,0];
[0,0,1,1,0,1]->[.X.,.X.,.X.,. Xep Xy Xo];
[0,0,1,1,1,0]->[.X.,.X.,. X0, %00 X0, X
[0,0,1,1,1,1]->[.X.,.X.,.X.,. Xep Xy Xo];
[0,1,0,0,0,0]->[0,0,0, 0 O 1,
[0,1,0,0,0,1]->[0,1,0,1,1,0];
[0,1,0,0,1,0]->[0,1,0,0,0,0];
[0,1,0,0,1,1]->[.X.,.X.,.X.,. Xep X, Xo];
[0,1,0,1,0,0]->[0,1,0, 1 O ,0];
[0,1,0,1,0,1]->[.X.,.X.,.X ;. X.p . X, Xo];
[0,1,0,1,1,0]->[.X.,.X., x.,.x.,.x.,.x.];
[0,1,0,1,1,1]->[.X.,.X.,.X.,. Xep Xy Xo];
[0,1,1,0,0,0]->[0,0,0, 0 O 1,
[0,1,1,0,0,1]->[0,1,0,1,1,0];
[0,1,1,0,1,0]->[0,0,1,1,0,0];
[0,1,1,0,1,1]->[.X.,.X.,.X.,. Xep Xy Xo];
[0,1,1,1,0,0]->[0,1,0, 1 O ,0];
[0,1,1,1,0,1]->[.X.,.X.,.X. ;. Xep Xy Xo];
[0,1,1,1,1,0]->[.X.,.X.,. X0, X00 . X, X
[0,1,1,1,1,1]->[.X.,.X.,.X. ;. Xep Xy X
[1,0,0,0,0,0]->[0,0,0, 0 O 1,
[1,0,0,0,0,1]->[1,0,0,1,1,0];
[1,0,0,0,1,0]->[1,0,0,1,1,0];
[1,0,0,0,1,1]->[.X.,.X.,.X ;. Xep X, Xo];
[1,0,0,1,0,0]->[1,0,0, 0 O ,0];
[1,0,0,1,0,1]->[.X.,.X.,.X ;. Xop Xy Xo];
[1,0,0,1,1,0]->[.X.,.X.,. X0, %00 X0, X
[1,0,0,1,1,1]->[.X.,.X.,.X.,. Xep Xy Xo];
[1,0,1,0,0,0]->[0,0,0, 0 O 1,
[1,0,1,0,0,1]->[1,0,0,1,1,0];
[1,0,1,0,1,0]->[1,0,0,1,1,0];
[1,0,1,0,1,1]->[.X.,.X.,.X. ;. Xep Xy X
[1,0,1,1,0,0]->[0,0,1, 1 O ,0];
[1,0,1,1,0,1]->[.X.,.X.,.X ;. Xep X, X
[1,0,1,1,1,0]->[.X.,.X., x.,.x.,.x.,.x.];
[1,0,1,1,1,1]->[.X.,.X.,. X, Xep Xy X
[1,1,0,0,0,0]->[0,0,0, 0 0,1];
[1,1,0,0,0,1]->[0,1,0,1,1,0];
[1,1,0,0,1,0]->[1,0,0,1,1,0];
[1,1,0,0,1,1]->[.X.,.X.,.X ;. Xep Xy X
[1,1,0,1,0,0]->[1,0,0, 1 1 ,0];
[1,1,0,1,0,1]->[.X.,.X.,.X ;. Xep Xy Xo];
[1,1,0,1,1,0]->[.X.,.X., x.,.x.,.x.,.x.];
[1,1,0,1,1,1]->[.X.,.X.,. X, Xep Xy X
[1,1,1,0,0,0]->[0,0,0, 0 O 1,
[1,1,1,0,0,1]->[0,1,0,1,1,0];
[1,1,1,0,1,0]->[1,0,0,1,1,0];
[1,1,1,0,1,1]->[.X.,.X.,. X, Xep Xy X
[1,1,1,1,0,0]->[0,1,0, 1 O ,0];
[1,1,1,1,0,1]->[.X.,.X.,. X, Xep Xy X
[1,1,1,1,1,0]->[.X.,.X.,. X0y 00 X, X
[1,1,1,1,1,1]->[.X.,.X.,. X, Xy Xy X

END

der Funktionstabelle"



